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1 Here are some number cards.

5403

3245

7345

3154

8201

(a) Write the number with 3 in the hundreds position.

2 Here are five number cards.

Use four of the cards to complete these fractions.
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4032

2

4

10
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3 Here is a shape drawn on a grid.

(a) Name the shape.

......................................................... [1]
(b) Draw a parallelogram by joining dots on this grid.
[1]
4 Jamila’s birthday is on 7 August.
July August
S M| T\ W | T|F|S S M| T\ W | T|F|S
112|345 |6 1121 3
7189 (10111213 4 | 516 |7|8] 910
1411516 |17 |18 | 19| 20 11112113 |14 | 15| 16 | 17
21122123 |24 |25)| 26|27 18119120 21|22|23 |24
28 | 29 | 30 | 31 25126 |27 (28|29 |30 31
Angelique is two weeks older than Jamila.
When is Angelique’s birthday?
................................................ [
© UCLES 2020 0845/02/0/N/20 [Turn over



4

5 Here is a shape drawn on a centimetre square grid.

Find the area of the shape.

cm?  [1]

[1]
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7 Class 6 run the school snack shop.

They record how many fruits they sell in a week on both a pictogram and a bar
chart.

Sales in a week 100 Sales in a week

i represents 20 sold 90
80

e | XXXXX .
Number

bananas i i i ﬂ sold 60

50

oranges 40
30
pears i
20
peaches 10
0
apples bananas oranges pears peaches
Fruit
The charts are not complete.
Each chart only shows the information for 3 fruits.
Complete the charts so they show the same information. [2]
8 Yuri calculates 5226 — 1301 using a number line.
Here is his working.
-1000

5226

Complete the boxes on the number line.

[2]
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9 Here is a number sequence.
-21 -16 —11 -6

(a) Write the next two numbers in the sequence. [1]

(b) Write down the rule for this sequence.

................................................................................................................................................ [1]
10 Here is a jug of water.
— 2 litres 7
— 1 litre
400m! of water is added to the jug.
Draw a line to show the new level of water.
[1]
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11 A van carries a maximum load of 250 kg.

A chair has a mass of 4 kg.

What is the greatest number of these chairs that can be carried in the van?

................................................ chairs 1]
12 Here are five numbers.
6.05 56.0 5.60 0.65 6.5
Write them in order starting with the smallest.
smallest largest

[1]

13 Calculate 20% of $401.25
$ [1]
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14 Here is a school notice.

Football practice
Saturday

Start:  9.50am
Finish: 12.15pm

How long is the football practice?

15 Complete the following.

5x12=
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16 Rajiv thinks of a number.

It is less than 50

It is a multiple of 4

It is a multiple of 6

The digit in the units is a 6

What is the number?

17 Here are six numbers.
213.41 213.49 213.45 213.31 213.44 213.39

Draw a ring around each number that is 213.4 when rounded to the nearest tenth.

[1]

18 Find a 2-digit number less than 86 that is a factor of 86
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19 Here are four bags of balls.

Bag A Bag B
< > = >
| — Y2

o0 e

Blessy takes a ball from each bag without looking.

Complete this sentence.

The likelihood of taking a black ball is the same as

the likelihood of taking a white ball in bag

[1]
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20 Manjit knows two number facts.
78 x 5 =390
78 x 3 =234

Show how Manijit could use both of these facts to calculate 78 x 13

[1]
21 What is the value of the digit 4 in these numbers?
3.04 e
L
[1]

© UCLES 2020 0845/02/0/N/20 [Turn over



12

22 Here is a shape plotted on a coordinate grid.

(@) Write the coordinates of point C.

(b) The shape is reflected in the y-axis.

Write the coordinates of the reflection of point D.

(o S ) [1]
23 Here is part of a number line.
0 20
- | | | | | | | | | | | L g
A
What is the value of A? [1]
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24 Here are four digit cards.

Use each card once to make this statement correct.

25 Carlos lives 100 km from Cambridge.

5 miles is approximately 8 kilometres

What is the distance in miles?

26 Here are ten cards.

Each card has two numbers written on it.

Draw rings around all the cards where the two numbers total 10
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5.5

8.3

45 |55 74126

9.1

3.6

9.9

0.9 2.7

7.3

6.3

5.7

98| 1.2 16| 84

0845/02/0/N/20

4.4

6.6

[1]

[2]
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27 A water cooler holds 20 litres when full.

The graph shows the amount of water in the water cooler during

one day. /T}\
At 6 am the water cooler is full.
Graph to show amount of water in a water cooler
20
N \
16 B
N
12 ~_
Amount ™
of water 8 = =
in litres 4
0
6am 8am 10am 12pm 2pm 4pm 6pm 8pm 10pm

Time of day

(a) How much water is in the water cooler at 10am?

litres [1]
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28 Draw a line to join each improper fraction to the correct place on the number line.
The first one has been done for you.

3 7 35 1
2 2 8 4

A

Y

G
N
w
N
U1 —

[2]
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29 Here are two identical rectangles.

8cm 8cm

A
Y

A
Y

5cm 5cm

Not drawn to scale

The rectangles are placed on top of each other to make a new shape.

3cm

5cm

Not drawn to scale

Find the area of the new shape.

Show your working.

cm?®  [2]
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